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:  F1 > P42 
:  F1 < P42 - 10K 

  A2: 
:  A1 = . 

   F3 (  F4) > P50  F1 – F4 < P31  
: A1 = . 

    F3 (  F4) < P50 - 5K 
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  (     
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:  F3 (  F4) < P50 - 5K 
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  . ) 
:    F1 - F4 > P30  F1 > P40 

.:  F1 - F4 < P31  F1 < P41 

   
:   F3 (  F4) > P50 

 : F3 (  F4) < P50 - 5K 

    
:   F1 > P42 

:   F1 < P42 - 10K 
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:  F3 (  F4) > P50  

:  F3 (  F4) < P50 - 5K 

    
:  F1 > P42  
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:   F4 – F5 > P32  

:  F4 – F5 < P33 
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F1  
F4  1  
F2  2  
F3    1 /   . 

 A1 
F5 ( )    2 (  

) 
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  A1 

  (     
  . ): 

:   F1 - F4 > P30  F1 > P40 
:  F1 - F4 < P31  F1 < P41 

   
:  F3 > P50  

:  F3 < P50 - 5K 

    
:  F1 > P42  

:  F1 < P42 - 10K 

 
  A2: 

:  F5 ( . F2) <= P51 – 5K  
   F3 – F2 >= P32 

:  F5 (  F2) > P51  F3 – F2 < P33 
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 PT1000  1K +/- 0,2%  0°C 

 
, °C ,  

-20 922 
-10 961 

0 1.000 
10 1.039 
20 1.078 
30 1.118 
40 1.155 
50 1.194 
60 1.232 
70 1.270 
80 1.309 
90 1.347 

100 1.385 
110 1.422 
120 1.460 

 

 

 

   
SPF 

  0  +105°C 
    YLHYW-O 

pvc 2x0,34 mm²   
 

 
-10  + 105°C 

  6,5 x 50 mm    
    1" 

  PT1000, 1K 
  
KLF 

  -40  + 180°C 
     

2x 0,35 mm² 
 

 
-40  + 180°C 

  6 x 50 mm 
  PT1000, 1K 
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DIN IEC 60 038 
230  

.  
 10% 

   5 
   250V 2 (2) A 

    L1' 6,3 A 
   DIN 60529 IP 40 

   DIN 60730 II,  
 

    > 10  
   

   
 0  50 °C 

   
   

 - 20  60 
°C 

  
F1 - F5: 
 
 

  
PT1000, 1K 
+/- 0,2%  
0°C  
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 ,   
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